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L. AR e e e i 1x6=6

Answer the following questions as directed

(a) Teiere Sea ERR IR 29

The problem of scarcity arises because

() ™om3 e e
supply of resources is limi
(i) S S Reps 7wz TR

av o ative
limited resources have altern
uses
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(2)

3
(i) TRTZI LTS N TSR SR (31
human wants are unlimited
(iv) S SHCAER (d) ACRH @IR TE ___ TG9 TRE S[e
All of the above ” ! ( 41 57 o 1)
(= Taacs! <ifs T ) _ 95.
[ Ghi5088 the cormect ansWEE | Slope ;i c!))(11.1Sdget line depends on price of
(b) TotEreR TTIOR g2 60! 377 ( Fill in the blank )
The first order condition of consumers 3
equilibrium is (e) ZI;"? ii‘«’fﬁ cers oivE [ Riemreme
() MRs,, 2%_ (% G orRym o )
# At the mid-point of the demand curve,
(ii) MRSxy - _Pi point elasticity is equal to 1.
Py ( Write True or False )
sia P
(iti) MRSxy>Fx_ (N & IE e M @R SRS F P T 9T
Py CF (ST’ TIOH 71 Ffegreme 2°7
(W) MRS, >-Fy. If as a result of increase in price, total
x outlay on the commodity remains same,
(% Taqch) 31 Sfere ) then the price elasticity of demand is
( Choose the correct answer ) equal to
i) 2
‘ (o G oy ot ) -
Indifference curve can touch the axes. (l-!l}
( Write True or False ) i N
negative
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2. 3 G (R e RoRBI) -

(4)

4x3=12

Write short notes on (any three) :

(@)

(b)

(c)

(d)

(b)

p25/432

R sl =

Mixed economic system
e T

Producer’s surplus
T &N

Input market

TR @

Monopolistic competition

IS A i e e |

ARG
b T fim we s
WB{WWCTW‘ 6+5=11

DiSCus

S

Brieﬂy Wt:: Scope of micro economics.

approach € about static and dynamic
€s to micro economic analysis_

%=1/ Or
St iy

Tt
Siki ] @7 weftafes ofRa
What domw' 6+5=11

! you m
Discuss ean by economic model?

tl'le Ch
ar. & g
€conomic mpge acteristic features of

( Continued )

4. (a)

(b)

(5)

siftwR e f 1 oS deE TR
g o o I G PP
SRS Bife I Sk F9 | 2+4+5=11
Define demand. Discuss the factors that
influence demand. Draw demand curve
using a suitable demand schedule.

w2qr / Or

st @ o el @ @ 7 foad TRES
 Refsgierer RfEA STPTR I 3911 2+9=11

Define price elasticity of demand.
Discuss different types of price elasticity
of demand with the help of diagram.

o SRS G T (e 7 e Wi g
TR S FRCTR (T RS o 4

2+8=10
What do you mean by income
consumption curve? Discuss the income
effect of normal and inferior goods using
indifference curve.

g4/ Or
(b) SEE YEEPTR S T4 : 2x5=10
Discuss the following concepts :
() fraeers @A
Indifference curve
( Turn Over )
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(7)

(6
) (Wﬁ»ﬁ@aomaowa@m—ﬂ@ﬁm)

(i) dfoTsR - ( Additional 20 marks for 2023 Batch )

Margi ; <
arginal rate of substitution 7. v oA Ta e (f e siRGr) :  5%4=20

(i) Answer the following questions (any four) :
(o) @ Rraer T rafiEpTR fodl |

Mention the characteristics of oligopoly.

Stitution effect .
What do you understand by derived
(v) TG @ demand?
Budget line (¢ Toew FERA Bt 5 GGt fer |
Write a short note on capital market.
S @) I aReirone (@) o ST T T ARG RS
SR TR S R Sl
AT Petrers o U TR =, TS aal
Discy N1 SCEIBT 547 | 10 Explain briefly how resource allocation
ss the long.- . can be efficient under erfect
and industry g-run equilibrium of firm competition. ’

n
der perfect competition.

() %mwmﬁmwﬁimm@m.

SI%=1/ Or
k) Explain demand for an input with
I @Mt 9 S example.
TRIPTR AT 37 | RiSA e ool
What ; * k&
18 e .

varioug eco‘:nomxes of scale? Explain

omi !
examples, ©8 of scale with suitable
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